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PAST EXAMINATION QUEST(ON = BiNoMAL THEDREM

(2)  Find the coefficient of x in the expansion of (x? — 5.

(b) Obtain the first 4 terms in the expansion of (1 + p)’ in ascending powers of p- Hence
find the coefficient of x3 in the expansion of (1 +x + 2x2)". (N98/P1/5)

Find, in terms of a, the coefficient of x? in the expansion of (1 — 3x) (1 + ax)®. Given that the
coefficient of x? is 24 and that q is positive, evaluate (i) a, (ii) the coefficient of x in the
expansion. (J99/P1/4)

Find the term independent of x in the expansion of (2x ~ 517)°. (N99/P1/4)

(@) Inthe expansion of (I -ax)®, where a is a positive constant, the coefficient of 2 is 702.
()  Find the value of a.
(i) Evaluate the coefficient of X3,

(b)  Find the term independent of x in the expansion of (x + %) :, (J2000/P1/4)

. Find the coefficient of x? in the expansion of (10— 7x)(1 + £)3, (N2000/P1/4)
- Find the coefficient of x* in the expansion of (D) (2~ 3%)5, (i) (1 +2x)(2 - 3x)S. (spl1/3) -

- The coefficient of x? in the expansion of (2 + x)(1 — ax)® is zero. Find the positive value of a.
(J01/P1/8) ) '

- In the expansion of (1 — )" the sum of the coefficients of x and x? is 16. Given that # is

positive, find the value of (i) n, (ii) the coefficient of x°. (NO1/P1/5)
. Obtain

(©)  the expansion, in ascending powers of x, of (2 - x%)°, .
(i) the coefficient of x® in the expansion of (1 + x%*(2 - x%)%, (J2002/P1/7)

- Find the first three terms in the expansion, in ascending powers of x, of (2 + x)% and hence

obtain the coefficient of x2 in thé expansion of @ +x-x%)% (N2002/P2/2)
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(b) First 4 terms =1 + 7p + 21p* + 35p°
Coefficient of x* = 119

(1=3x)(1 + 6ax + 15a>2+..)

() a=2 :

(i) coefficientof x=9
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